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¢ Please check that this question paper contains 16 printed pages.

¢ Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

e Please check that this question paper contains 36 questions.

e Please write down the Serial Number of the question before attempting it.

¢ 15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.
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(iii) Q799 97§ 5t 597 7 BIE 797 O @ e |

(iv) 3T YT — 3T 3R 97T — & & GHl 71 & I -T2 97T & SR T fora & |

(v) ST T FHTeT ] T3 & J97 -0 3% & & | 399 It} U Ie5 379/el] U T |
g/

(vi) HT— 3T % J97 G&IT4 T 6 & 797 F-31 37 & & | 579 S ATIT30 T F 57 & |

(vii) YT — 3T & 799 GE&1 7 T 18 & F97 A7-d17 371 & & | §93 3 o7 50 VIl 5 3
g1

(viii) YT — 37 & J97 G119 T 24 3 J97 Qrer-qier 3% & & | §9% 30 T 70 9151 7 3
g1

(ix) 9FT— & 797 Q&7 25 T 33 3 J97 JIreHS BT T3 ARG Tglashedt 797 & | I35
TvT U 37 T & | [{U T 9 el 4 G S99t SeapeT Uk Gad UG [T g & 1

(x) ST — & & g9 &7 34 T 36 & T97 FaNTIcHE FI9icT T IR q1-at bl & 97 & |
7 S AT T 7 & |

General Instructions :

(i)  The question paper comprises two Sections, A and B. You are to attempt both the
sections.

(ii) All questions are compulsory.
(iii) There is no choice in any of the questions.

(iv) All questions of Section A and all questions of Section B are to be attempted
separately.

(v) Question numbers 1 to 3 in Section A are one-mark questions. These are to be

answered in one word or in one sentence.

(vi) Question numbers 4 to 6 in Section A are two-marks questions. These are to be
answered in about 30 words each.

(vii) Question numbers 7 to 18 in Section A are three-marks questions. These are to be
answered in about 50 words each.

(viii) Question numbers 19 to 24 in Section A are five-marks questions. These are to be
answered in about 70 words each.

(ix) Question numbers 25 to 33 in Section B are multiple choice questions based on
practical skills. Each question is a one-mark question. You are to select one most
appropriate response out of the four provided to you.

(x)  Question numbers 34 to 36 in Section B are two-marks questions based on practical
skills. These are to be answered in brief.
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HT - A

SECTION - A
I DI T Tl & ST AT A T O I & 3T T 2 1

Which element exhibits the property of catenation to maximum extent and why ?

BTEST o S ol fafy 61 91 fef@w | = fafy it & atean ateifies 2 1

Name the method by which hydra reproduces. Is this method sexual or asexual ?

B U TETeR0T VeSS TRANT ohid © | ST o1 379 & 2 1

We often use the word environment. What does it mean ?

T oM@ H W SER AB 3R CD 31 el 507 €, ST fohadt @iaet et o1 m &, e
K0T Wﬁ(ﬂﬂAB:laWCD%,ﬂ?EaﬁEﬁﬂﬁaﬁqﬁwWwww%?

2
Iooid HITST T TIH § I 91 YT T &1 370 9 [ea fow 61 syt wiafers s
AT | 2
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é | —
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AB and CD, two spherical mirrors, form parts of a hollow spherical ball with its centre
1
at O as shown in the diagram. If arc AB = 5 arc CD, what is the ratio of their focal

lengths ? State which of the two mirrors will always form virtual image of an object
placed in front of it and why.

—_———
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\\\ //]5\
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5. uifd faeem o € 2 389 31 e 329 et | 2

What is sustainable development ? State its two main objectives.

6. o1 %l &I % AR HROT i gl A=Y | 2

List four causes of damage to forests.

7. 39 FEA AT 1 AW AR 2] T fatEn, o AW % @Y eerd <3fer o € 31X
fSTaeh 2107 § 31 e A & | T8 ST H & forw o 5 gl €, 5 9% it e @i
H,SO, & T T {1 ST ¢, g Hferd T THs0T faige 3 7 et W
3 1 A feAfEw | g sfulear 3 wig H, SO, i 4t &1 Seeid 4t i | 3

Write the name and molecular formula of an organic compound having its name
suffixed with ‘ol’ and having two carbon atoms in its molecule. Write balanced
chemical equation to indicate what happens when this compound is heated with excess

conc. H,SO, and the name of main product formed. Also state the role of conc. H,SO,

in the reaction.

8. W HIEA AN ‘P’ INE H FAFd © | A P’ AT K,Cr,0, F o R Heh
FE T AN ‘Q” TN & | S ‘Q° W WISAT N TH ST 9T &, af hig 19 R’
Pt & S Ui @ % @Y Serdl & | P, Q @41 R %l YgH i a9 g et
TSt o TATafe g ot fafeaw | 3

An organic compound ‘P’ is a constituent of wine. ‘P’ on reacting with acidified

K,Cr,0O, forms another compound ‘Q’. When a piece of sodium is added to ‘Q’ a gas

‘R’ evolves which burns with a pop sound. Identify P, Q and R and write the chemical

equations of the reactions involved.

9. Al % T I TG 32 fAf@u | Ty STad AR 1 foRiad s | @ & 6y
ot TUTEH T ST AT AT € 2 39 GoT TOTHH WX SR HH 1 A8 31X e o Seow
FHAT | 3T 3TEd FRON H 10, STEIE 31X STy (SUHTY) Fel e € 2 3
State the main aim of classifying elements. Which is the more fundamental property of
elements that is used in the development of Modern Periodic Table ? Name and state

the law based on this fundamental property. On which side of the periodic table one
can find metals, non-metals and metalloids ?
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10. T T X (TH] G&T = 20) TG T U H ToIoh HIE GRI HR1ES T & |
(a) 39 I Pl YgHIHT 3R THHT Soide o feAf@y |
(b) MY 3TeRT HROT H 3HH! 36T A 3R 9 & fafau |
(c) 3T 3ifRIEE & STt § ol W gH arell 1ufshar o1 Hferd Tamafes THier fafae |1 3

An element ‘X’ (Atomic number = 20) burns in the presence of oxygen to form a basic

oxide.
(a) Identify the element and write its electronic configuration.
(b) State its group number and period number in the Modern Periodic Table.

(c) Write a balanced chemical equation for the reaction when this oxide is dissolved

in water.

11. RT3 € 2 S0 I YR ot Gl S1ET a1 37 AT o S (USRI Ush TeT0T i oot
HIfT | 3

What is Pollination ? List its two types and write a distinguishing feature between the

two.

12. FECE, T
(a) THRAT &1 AN H e AT & 2
(b)  STd g YUTA: foreh i TSRS d=] YT el & STl & 2
(c) URTFE gF T RIS % ST & 2 3
What happens when
(a) Planaria gets cut into two pieces ?
(b) A mature spirogyra filament attains considerable length ?

(c)  On maturation sporangia burst ?

13.  <i0Teh ST 9T € 2 S9! OR faeivand fafan | 3

What is sexual reproduction ? List its four significances.
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14. DTS SAEOT ST TS 0T % Sre &1 ST 6l Gl dMferehl o & § 1150 | 5ol % 7el
= Tt St atet et SR SRR st arer Ul o FeHtoT arel T | F, Satd/digr o o |
et SISt SfTet e St FTcTSTera/3TdTe S/ o 2 3
List two differences in tabular form between dominant trait and recessive traits. What
percentage/proportion of the plants in the F, generation/progeny were round, in

Mendel’s cross between round and wrinkled pea plants ?

15. il o forepra & GHEA | JHI0T UK e a6l i SR i Tt SR 3R Hedsh i JiHeh
& SeoiE | HIT | 3

List three factors that provide evidences in favour of evolution in organisms and state

the role of each in brief.

16. 3afg fordt oig g, fommr =t fonedt oft Tt o foTw e & s oren wfafeesr ey, dien i)
BT ST &, T I DI WP T Seoid HISTT | 310 IR T I o [T wepmer fopeor e
Titaw | 3 50 TR o ol | ol ik U ol Aifeheh T 20 cm &, @ T2 e aRAR!

% ITTHR THeh! &7l 1T I | 3

If the image formed by a lens for all positions of the object placed in front of it is
always virtual, erect and diminished, state the type of the lens. Draw a ray diagram in
support of your answer. If the numerical value of focal length of such a lens is 20 cm,

find its power in new cartesian sign conventions.

o oo [a¥a

17. FfcRad | ueeh o fold SROT |ied Telg H ST HifT
(a) 3w TR
(b)  forcifer e
(c) R feAteHmT 3

Explain in brief the reason for each of the following :
(a) Advanced sun-rise
(b) Delayed sun-set

(c) Twinkling of stars
31/2/1 6
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18. R T il 3R U™ & foua § ==l sid qH 9187k Heled = Bl § ame Jod J9g
STTeTeH! S8 Sl 9d o 9 H PCRA (USifoTam TT0T ST9uM S8IM) % A1eeH | |ardd
a7 Y | ST ST A % |, ST R ael &l A, fommea STt | S T W,
ST e St o, ST 3 ST TrarSTt ¥ 3919 o e hT G e |

SURISRT TETeT T Ug % qeT] e {T T Ut 3 S I -

(a) STETeH $6 MIhideh TATEA &, T &0 3¢ TXIeTd i ol STavaehdl o1 & 2

(b)  STETeHr ST i SO & el ST SUTET Y G ST |

(c) ST gRT VR 3 Yot o Sooid HifTT | 3

While discussing about coal and petroleum a teacher told his students about PCRA’s
(Petroleum Conservation Research Association) guidelines to save the fossil fuels
while driving vehicles. Deepa was going to her school with her mother who was
driving car. At the traffic signal, when the light was red, Deepa suggested her mother

to switch off the engine.

After reading the above passage, answer the following questions :

(a) Fossil fuels are natural resources, then why do we need to conserve them ?
(b) List any two ways of saving the fossil fuels.

(c) State two values exhibited by Deepa.

19. (a) 37U U I WG € 1 I el T2l MUk € | 37 EAierdl § TN, TS
TR AT WG T foeTa WRT & | SAWAT HifT o6 [af R@Aerar § s JifTeht
TEE ST feewy U a7 W™ 41 % YA FRI qAEHh WIeTon §RT 6T W
FHAT |
(b) TSR ST o T WGAT T ST T T THH - 1 HRUT [AMET | 5

(a) You have three unlabelled test tubes containing ethanol, ethanoic acid and soap
solution. Explain the method you would use to identify the compounds in

different test tubes by chemical tests using litmus paper and sodium metal.

(b)  Give the reason of formation of scum when soaps are used with hard water.
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20. I TR T € 2 Ve AT Wied, TH UHAT R $B WhR % TRl i M & A i
! G TR | A fRU T et § i 3 9T S 39 ufshar gRT SR S €

What is vegetative propagation ? List with brief explanation three advantages of

practising this process for growing some types of plants. Select two plants from the

following which are grown by this process :

21. (a)

(b)

©

(a)
(b)

©

Banana, Wheat, Mustard, Jasmine, Gram.

HEA = 3T FART % foTd FeT I &1 T AT ? Tk &1 HRUT [Aray |

Hedt 3 210 T & foft 7ex o 5 fouait gear @efon o1 3w fohar 38 & a1
et ST |

TET W AT HINT o HeeT 7 370+ TR & fF9 UhR AT sk 98 {9 o
TTRTOT T} STET ST il § |

Why did Mendel choose garden pea for his experiments ? Write two reasons.

List two contrasting visible characters of garden pea Mendel used for his

experiment.

Explain in brief how Mendel interpreted his results to show that the traits may be

dominant or recessive .

22. U WA T I T 31aaeT SUUT A, B 3R C € STt wiehg gRat saet: 10 ecm, 15 cm
AT20cm e |WWW$WWWWW,WWW—W 10 cm, 20 cm
3R 30 cm & forg, wfdfesr =1 @9 & foau ugi w=a € | SRoT 9ed T R e e &
Wﬁﬁ?:

(a)
(b)

©
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Suppose you have three concave mirrors A, B and C of focal lengths 10 cm, 15 cm and
20 cm. For each concave mirror you perform the experiment of image formation for
three values of object distance of 10 cm, 20 cm and 30 cm. Giving reason answer the

following :

(a) For the three object distances, identify the mirror/mirrors which will form an
image of magnification — 1.
(b)  Out of the three mirrors identify the mirror which would be preferred to be used

for shaving purposes/makeup.

(c) For the mirror B draw ray diagram for image formation for object distances

10 cm and 20 cm.

23. 6 cm SO Thdl fa & 20 cm H6E g0 & [T S1ade o @ fohar g0 W fer & e
ST Ut o T 15 cm T W I 2 S aTet Hfctera 1 Trest | Rewield i |

I et | 9 §R7 ufdiets s=AT 91 & forw fomeor e @ifan i) Jmifed St ifsie | 5

At what distance from a concave lens of focal length 20 cm a 6 cm tall object be
placed so as to obtain its image at 15 cm from the lens ? Also calculate the size of the

image formed.

Draw a ray diagram to justify your answer for the above situation and label it.

24. (a) oI YIS T f&iuor o1 € ? TEeh! HRUT faiEy |

(b)  “THET GI & UHRT P [T T Teh IIEIT & 17 3H HIT P TAUH, IR B
TEdl § ST H ST I Dl AT Feh DN | That ey o Ueqor o forg
T 3MEYTF Tt bl el TR | 5

(a) What is dispersion of white light ? Stae its cause.

(b) “Rainbow is an example of dispersion of sunlight.” Justify this statement by
explaining, with the help of a labelled diagram, the formation of a rainbow in the
sky. List two essential conditions for observing a rainbow.
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25.

26.

31/2/1

M-
SECTION - B

[a¥a

FHTaEd WX foeaR ST
() T e

1) WA

(I11) TRYA T T

(IV) Tt

(V) |3 & o

(VI) RIS & dA

T Y FhIhT SUFNT Qe S H fehar ST gehdl & 2
(a) L II, I, VI

(b) 1II,V, VI

(¢) IL1II,V, VI

(d) II, 1, VI

Consider the following oils :
(D Mobil oil

(IT) Castor oil

(III) Turpentine oil

(IV) Kerosene

(V) Mustard oil

(VI) Coconut oil

Which of these can be used for preparation of soap ?
(a) L II I, VI

(b) 1II,V, VI

(¢) 1L 1II,V, VI

(d) II, 1, VI

FUN GRT YA fehT ST aTet SAfehier TieHT & SUENT € S ThTE & —

(a) Hifeaq FTARNES
(b) TR FTEgiRTEE
(c) Wifeam BTegirTEs
(d) R RS

10
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The chemical mostly used in the preparation of most of the soaps we use is
(a) Sodium chloride

(b) Potassium hydroxide

(¢) Sodium hydroxide

(d) Potassium chloride

27. g B STeT H G0 Tg ST % TIT Y T § T WG o T et & fow waram i 9
ST € | I8 A U o WG S FHCTAT ST 39 STe o |1 TaY 314k & ST U il &

(a) TIWH
(b)y TAFTAH
(c) RUTUTMH

(d) dEH 1

A student is testing water to know which is best for cleansing purposes with soaps. He

would find that the cleansing action of soaps is best when he uses water obtained from
(a) rain

(b) tap

(c) hand pump

(d) pond

28. I B hdl Fleord Xt Hiehd g, e gre fera & wifdfona o6 fawer ot & fgwm |, gl
¥ 20 cm 30 W A U8 W Rk ek T AT § | i X0 ® -

(a) 10 cm Hiehd U M FEaA o

(b) 20 cm T T T IAA 9

(c) 10 cm HisHH I M STEA U

(d) 20 cm TIHT I I 3FedeT FUUT 1
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A student determines the focal length of a device ‘X’ by focusing the image of a
distant object on a screen placed 20 cm from the device on the same side as the object.
The device ‘X’ is

(a) Concave lens of focal length 10 cm

(b) Convex lens of focal length 20 cm

(c) Concave mirror of focal length 10 cm

(d) Concave mirror of focal length 20 cm

29. g f¥meT WA 15 cm BT U o 3T o9 I WU H o TehTeh &d W 42.7 cm
e W T € SR AR B A, B, C 3R D @ U< %! Yl o 0 39 et &1 371 H¥eh
T % felT Fed & 59 W TR W fdt S 987 o Wfdfens 9% W X & U & S |

TR} BT FRT et T et 5 v €

A. 1277 cm

B. 29.7cm

C. 577cm

D. 7277 cm

TS o T Fef g e o €

(a) A

(b) B

(¢ C

(d D 1

A teacher sets up the stand carrying a convex lens of focal length 15 cm at 42.7 cm
mark on the optical bench. He asks four students A, B, C and D to suggest the position
of screen on the optical bench so that a distinct image of a distant tree is obtained
almost immediately on it. The positions suggested by the students were as :

A. 1277 cm

B. 29.7cm

C. 577cm

D. 7277 cm

The correct position of the screen was suggested by
(a A

(b) B

(c0 C

(d D

3121 12
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30. TRAr B A A 9T SFER i & T 9 ToRA aTell TenreT 0T 61 9o STRIEd &Y forar
T 1A Y T ANE H 1, 2, 3 TS 4 FI 3ifhd A o [0 T S, AL, Le, Lo aqdq
e foreToe o Wel S SR 8T 2

(@ 2,1,3,4
(b 1,2,3,4
(c0 1,3,2,4
(d 1,3,4,2 1

A student has traced the path of a ray of light through a glass slab as follows. If you
are asked to label 1, 2, 3 and 4, the correct sequencing of labeling £i, Ze, Zr and
lateral displacement respectively is

(@ 2,1,3,4
(b 1,2,3,4
(c0 1,3,2,4
d 1,3,4,2

31, Tod el e o UST @ oA aTetl TehreT Sh0T 1 09 3TRREd e & WarT | &ie 313
I VT I o e feron

(a) U Y01 & FHATR € |

(b) e foReor @l feom & oW el ¥ |

(c) Torafer gt foem & Udet WT t 31 g St & |

(d) Torafer g fosm & HiE R &I 31K g8 St € | 1
31/2/1 13 [P.T.O.
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In an experiment to trace the path of a ray of light through a triangular glass prism, a
student would observe that the emergent ray

(a) 1s parallel to the incident ray.
(b) 1is along the same direction of incident ray.
(c) gets deviated and bends towards the thinner part of the prism.

(d) gets deviated and bends towards the thicker part (base) of the prism.

32. o foere meRa gRT Rt Tgasist siiet & Yot o fafi=T 9 1 aTeE s & fotT et
T | A S UET % 5 Aeede w07 KU T E

A. SIS BT o H TR S I R e i |
B. il ST 1 sk @ifeTw 3R gk o=t 9t 1 Jeror ST |

C. wWifew ¥ 38 W &t elifog |

D. 3fuss ST o i e, Met sug 9§ &S o efht 3] w a7 U 8 @

T |
T =RON T TE T §
(a C,A,D,B
(b)y C,D,AB
o0 ACD,B
d ACB,D 1

The students of a class were asked by the teacher to study the different parts of an
embryo of an angiosperm. Given below are the essential steps for the experiment :

A.  Soak the seeds in plain water and keep them overnight.

B.  Cut open the soaked seed and observe its different parts.
C. Take some healthy seeds in a petri-dish.
D

Drain the excess water, cover the seeds with a wet cotton cloth and leave them as
it is for a day.

The correct sequence of these steps is

(a C,A,D,B
by C,D,AB
o0 ACD,B
d ACB,D
31/2/1 14
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33, WfeTal | 9 SR T TSR, 3Te], YhTehal, Hell, TARY 3R &7F W € | T19 ¥ i JoeTa
TR foete et & 2
(a) TSR, YRh] 3T 3Tl
(b) TSR 3R Heit
(c) TSR, 3Te] 3R 2HIR
(d) o R A
A basket of vegetables contains Carrot, Potato, Sweet potato, Radish, Tomato and
Brinjal. Which of them represent the homologous structures ?
(a) Carrot, sweet potato and potato
(b) Radish and carrot
(c) Carrot, potato and tomato
(d) Brinjal and radish
34, I T 0 (TRICE F FEREICT H Ui ST & TUTEHT T 31T H @l & | S |
fifqeh TOTeHT SR ST A [OTHET P Gl TEY, S VT ek 39 IO Alegs® o
foreT =T |
A student is studying the properties of acetic acid in his school laboratory. List two
physical and two chemical properties which he must observe and note in his record
book.
35. 9% i | AT ST & T Ushel ST ¥ q1 UAld U gicll & 31X Sk o 3Tcfeal THm
ST & 2 30 STR B Y & fIw 57 ufehan 61 v 3 3ifam =Ror 3 Wieee 39Tt |
3 HAT T Ioeid HIT [HY TE UFsHaT SR et &
In which asexual reproduction two individuals are formed from a single parent and the
parental identity is lost ? Draw the initial and the final stages of this type of
reproduction to justify your answer. Write the event with which this process starts.
3121 15 [P.T.O.
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To find the image distance for varying object distances in case of a convex lens of
focal length 15 cm, a student obtains on a screen a sharp image of a bright object by
placing it at 20 cm distance from the lens. After that he gradually moves the object

away from the lens and each time focuses the image on the screen.

(a) In which direction-towards or away from the lens does he move the screen to

focus the object ?
(b) How does the size of image change ?
(c) Approximately at what distance does he obtain the image of magnification —1 ?

(d) How does the intensity of image change as the object moves farther and farther

away from the lens ?
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